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Part A :General Intalligence & Reasoning
From the given altemative words, sslect the word which
cannod be formed using the letters of the given word.
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6} A man fcing south turns e his left asd walk L0, then he

tumms fo his right and walk 15m, again be fums o kis ey

and walk 3m and then he ums to his lefl and walk {5q,

In which direction be i facing mow?
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B spar 14)  From the given answer figunes, select the one in which U
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A B} 119 23) Which one of the ol lowi i
Chas D} s1 relationship among; e e TEprRserty i
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Piece of paper is Folded und cut a8 shown below in the AETeTE # I e s S

Question fgures, From the given answer flgures, indicutc A FI N G
I'I-EI'I:'f' It wll Upeear "-‘-'h'.‘!l'l 'I'.'IP'EI'IEd. Hﬁﬁrh
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Cruestion Figure /9wy g
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B) o '

A)

24)  Awond is represenied by only ane aed of numbers & Een

1::1 any one of the allematives, The s af numbers piven
m the allematives ane Peprescnted by two clagees of
alphatets as in lwo marrioss given belpw. The calummns
and rows of Matrix [ gre numbered from 0t £ s th
of Matrix 1T are numbersd from 5 10 B, A lester from these
fatrices cam be represented first by its rorwr &nd neet by g
cedurnn, eg., A can be represenied by 00,44, eic., :||:|;'] '
can he represented by 56,70 e, Similarly, you bave
idensify the set for the word ZEST, :

20)  Which one of the given responscs would be a mzaningful o e o I A AR, A

21} The age of father is bwice that of the elder son, After ten

arder of the following?
L Family 2. Comimimity 3. Member
4. Loculity 5. Country
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years, the age of fher will be three fimes thy of the £ -1 A -l
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P invests THI00 for 3 months [} inve

months and B TR190 for ¢ months in 3
tistal profil aomouds (o ¥ 4148, how much pre

gt 7
Bl FEERL A P 3 i A T F0L,

zsi25 TR 5 A & AT TR
fﬁﬂmaﬁmﬁrmﬁng‘a’rq ah TR
i

AYT 346,50
C)T 64250

28)

oz

B)T 643
D)¥ 1386

A conermeior has the farect nf £

days, [le smpleyed 10 peracns who campleted {

the work in 10 doys and it The =
ks L empliy 10 finish he romaining
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uﬂﬁgﬂﬁrmﬁ.ﬂﬁ
var R

popleting 2 wark in 40

umber bl p:rs-rmﬁ_]'lc
et as por Mrgel 150

md s

7
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fit shoul

40
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31)

12)

e |
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30} By selling a coat for 630, u shopkeeper amins 5%, i

the cost prece of the coat 7
T SERIFEN F T 630 H U I S U 5% Ty

BT & | e ST T A T
B}T 625
)T 700

A B30
G T 600
&

Two varictiss of sugar are mixed fopether in g aériai
eation. The cost of the mixture per Kg is $0.30 (w5 lhm:n
that of the superior and T 073 more than the inferior
varielv. The matio in which lhe superior aod inferie
varicties of sugar hove beon mixed ia:

St #r 2 TreAT R A # v T W
e sy oy Ko AT 359w o e £

T T 0,0 A § R e = A a100s
e & | ST EiTE S i T oftr P fr der

T T # e T i ’,:1?/

L B}i: 1 ‘5,/‘
.-__.-"

Cy5:t D)3 2 ;;;5

P, (3 and B com do a piecs of work in 60 doys , P e 2
and Bl days respectively, They iogether watk 0o finish the
wirk and recsive T 2256, Then P odll get?

P 3t 12 P S i wHe 60 i, 100 G g e

Een =g E) [ AEIEY
Firr o e e B A e R T O R e TR
BY40
4120 ) o s & A T 2256 e el B, o P e
e b)10 Wi B 2
28] The average of three pumbers of which grestest s 16 =
12, I the smallest is balf of the grestest | foe feImaining Ay ByT 576
number 182 E}.E' Rz D)T 7132
ﬁﬁﬁm&ﬁmﬁaﬁaﬁnﬂﬁﬂmﬁ.mﬁu?. . : i :
] E - 33} A hox containg Ong rupes, filly-paise armd twenly-fve
uﬁragawmnﬁmﬁamﬁa’ra‘r oo T paize coing, The total number of eolng are 378, The fatia
| i oif values of the abee ooins i3 13 71 0 7. The number of
paeniby-five paiss codng was;
A2 B) 14 o e T e A 25 U o T
Chi Dj 10 ﬁﬁhﬁ'rgamiwm‘a_atﬁ;ﬁﬁmﬁaﬂﬂ*ﬂ
28] A persun covers A cortmin distance i 6 hours, if tmveis ol Hafar 131127 7 ol o e o TRt @ FmAT
A0 Eend bour, I he bas oo covor the same distmnce in 4 -
hiomirs, then his speesd must he! ey 412
T i s a0 T wioel S AT & A 132 By
FAT ol S T O 6 TET 3 o e £ | 0 S g C)2LD D) 164
a4 T fy o
4 PP e e ey M) The Selling peice ol a radio WS 7255 when 15% discosl
e Eﬂ g B) %0 Km ¢ howr wae gllowed. Then the marked price of the mcic wis
; |l e =i s 80 sy oft vy ﬁﬁﬁﬁﬁﬁﬁw LE%'QEE_ﬂ#TEH!!SEW.HT
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ﬁiﬂm ; AR201T Quastion Nos-38 to 40 _—
5) The unit's digit of the numiber 6259 . 4208 |, . o wHEAT 530 & 40 T
T 62 - 475 T AT 3 ;T - . T pia- ciogram shaws o
Al B)4 pirectic urrecd 0n 18 peinling of @ book Dy 8

Dj % e, U s heads. Study the pie-cliagram
7 L
P o arcs
g Roms inceime is 100 more than that of Shyam. IF the
ayerage income of Ram and Shyatn 15 THSO, then Ram's

iponme B
& AT s B W B T wlwE TR as

it g o A Hr T80 & B e PR
3
7 9 B} 300
, )% &S0 D)T 475

N oacollezs, et of the girls and Vgt of the boys took
in o social camp. The total mumbes of students in the
solbegs took part in the camp is
a7 |5 ST HIT 1 ] o v

mﬂﬁﬁﬁwﬁmﬁmaﬁﬂaﬁﬁﬁnaﬂmﬂ

dsias i Cﬂ | tor head A 13
: ey ad A1
Ajld B) L gl 38) If the expenditure sncurred on the prirting '”:d 3

% & Fa{WH-. Then the sum nf expenditure incurt
oyl B and L7 1s: s
E}-:; 40 7 4 Ty 3 el AR TE000- T eray Rl

T AT AT
3g) Each side of @ squart i iricroased by 10 %, The !,errﬂrﬁ—ﬂaﬂmﬂamﬂﬂﬁfraﬁ'r?rgﬂ

percentage Mersise of its anca 1% #rem:
e G g 103 T ST A A)T 5780 B)T 7830
e 3 e ST CyE ET5 D}E 8370
Bj5 - _ _ e
40} The two cxpenditures, which together will form an angle
.4 of LUA" at the contee A
A4 2t e et S W 1087 =1 T FATTATY
it A A& D BID&E
ol

A twi wheeler depreciates at 20 % of its value every year,
I present value of the same be TO0000, its depreciated
value would be T36864 after:

% U gaEar & wia J 20% HE g g ST B | ot
S At 3T 0000 ¥ F I FFT wted Aea

G CIALF D)BE&E
%/@1:
ﬁ-

T36564 ToReeT I anE g o
A}:;;;m B 6 years
6o 5,.~
C)4 yearg A
4T D} 5 years _,_..:-;"'
5 b
{ "}-fr " . ]
=t 4
N-20s212371010) ) § 4% /) 4 2 2"_1_'___*{ A o
) -
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42) A sum was doubled with 127/2 % rate of simple interest,

44)

45)

46)

Lot

anpam. Then time taken fior thad sum is:
:;nﬁ'r 1272 % i T SURT ST o ST 6

it & iy 3 T s v e e
-I‘-.'!W:«*Eﬂﬁ.'ﬂ' B3 years / o
S Lymaret 08 e 44
- 2

2

e of a bicyele is marked by a trader at T 10600, He
“TET:;@:J: allowing successive discounts of  20%,
10% and 5%. Thus the trader gained 14% then the cost
price of bicycle (in rupees) is: _

o Tt o s o FEE 1000 3R R s
=37 7 20%, 10% 3T 5% Fr et g dwr s dm

foraT | S WA 3 Terdatl o 4% 97 0 |

o s = A Ara e (Faa d i
A) T B) &)
c)si0 D) 560

The price of electricity has been increased by 25%. 11 a
person wants to keep the expenditure same, then the
percentage reduction in wse of electncity should be :

R fa & s frafe el b of o e
e B T T o e Ry A
Tt wivnm walt et gl o

A) 19 B‘}lﬂ

C)21 D)8

A dealer marks his goods 20 % above cost price. He then

allows some discount on il and makes a profit of B 3. The
mde of discount is:

o T 3 AT 9T WS 65 T 20% Wit
A diFT A b | TR aE W gE e ok i
K% T AT AT & | T Y o wr Ehe

A) 6% B) 10%
-~
C)4% D) 12%

The radivs of a sphere is doubled. The percentage of
merease in its surface area 187

T v A T e R AT A & | 3 S A

# T = Wi v g
A 100 B) 404
C)7i D)3on
" -
#fﬁfrfr"r o s 1
T Vel “}/‘: P
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)} The ratio of the arpag

43)

43)

50)

SAApE of ;
its diagonal than the ,ﬂmiﬁ" Squares ane having oy,

Cji: |

A man travels 600 Km by train at 80 Km/ho

by ship at 30 Kmhour, 500 Km by m;};ﬁ::f;
Em'hour and 300 Km by car at 60 Km/Mour. What ig ghe
average speed(Km'hour) for the entire distancs 7

U S 4 2AAT B0 R e g et e
600 e, st & 30 Rrmvier siee S g
600 R, Trarer 2 400 Prveler afa &
ﬂ%ﬂswmmmgm
uﬁﬂmﬂmﬁt#m}mﬂwmhqﬁ
AT # s afvere e Pt (vt v O
gt 7
A} 63 B)so 7
27

'}nsnf
7

& man retived fram his service at the age of 60. He served

for Hge years of lis retirement age, He joined his job at
iz age of :

e B 60 T4 iy 3 FafEged g3 | 56 W
frefraiay g % s of A & I

Cl ey ?
27

FAteir T s # uE

A) 20 years B 18 vears
20 i I8 =

C) 24 years D36 years
2430 6 TH

A man purchased 120 reams of paper ot T 8 per ream, He
spent T 280 on transportation, paid octrol af the rate ul'"!ﬂ'
paise per ream and paid ¥ T2 to a porter, In order io gus
284, hie must sell esch ream of paper for

o egfae & T 80 9T T iy g7 ov 120 R w0
T | 3 gk ov T 280 wrd T a0 AR v P
a7 o ot ey i ST w72 e I A%
AT e e i T i e e e e A
e {7

539‘0

C)T 59

BjT 85
D)T 87.5
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il S s I W’Lﬂ..l‘d :u-” an homest mﬂﬂﬂbﬂ'ﬁnt

ga) He isnat what o8

he?
B} you would call an nonost
Question Nog 51 to g ————— A) e s ot W0 man
Directions : Some part ﬂfm:;ﬂrm?
armars and Some ane correct Ay CEE May hayvg ¢ 4 bt D) Mo error
mmhﬂﬂﬂhﬂﬁgrrgmmd Mml‘ﬂhm# ; ™ jagses for one
the ol 60) He hay not been anending English €8
sentence is free Fom emer blacken "ﬁmﬂpﬂm_m Ifa i -
fo "No Error” option in the Answar A He pas pid beed BjEngne
i IT'-E--
51) This sponge is not able 1o absorbing water, Mum -
—_p . Nos.61 to T0
A) This sponge is B} Mo error : W'guu:ﬁnwmmmwrk_rﬂbﬂﬁﬂﬂd
C)nat ahbe o D\ shsoibi Directions - ciafe word{s). Four aifermnatives ars
Ola A waies. mnﬂﬁﬂﬂﬁgﬂamqwﬂm_ rh!'ﬂrﬁ "
. uggested : nd indicate
52) 1 am thinking | will to the mark i - ropriate altemative out of the four a
e, go &1 later this ?,ﬂ : Mmﬁ,ﬂmﬂngwmm
AJI am thinking BiN Mr—'—'_'ﬂ_-_-_
) S G1) Since ghe is & teacher of languUage, one would not
C) later this afiernoon D} 1 will go to the market expect her ta be guilty ofa ___ -
53) 1am too much pleased to know that you have iopped A} sobecism B) bombast
the list. ) schisen D) stanchion
A) to know that B) you have topped the list §2) Anna is niot popular. She has _ friends.
C) Mo efror g-‘}lnmmumuch pleased
&) 2 linle %.l a few
54) Have you been doing what has been asks of you C) few D) listke
A) Have you B)been doing §3) Sally parkedand got____ the car quickly.
C) what has been asks of D) No emor %
rm"? ”ﬂlll D:F }Dn
55) We rejoiced at his being promaoted. i Elne
AJbeing p ] B) No ermor @ __ she can't drive, Anita has bought & car,
cl_-w;: ro:_plhmﬁﬂ Djal has f&lSiHDﬂ El- Even lh{l’l.lgh z
56) Kindly submit your documents to the clerk: C) Whether or ol D) Even if
65) You will have to face some practical proble h
B) Mo emor problems when
A}to the clerk. E:r.' i youstart _this plan.
documents in :
Gyt fopmie? ; A) prosecuting B) proscribing
57) Itis a most beautiful painting in the gAY ) prescribing D)exceuting
At is & most A 86) They were worried about a new cult which
) beautiful painting D)in the gullery- many followers,
58) Love for ours environment is enough 10 protect ::'Mh Eaining B) were gaining
nature. . o -l WS ginog D}is gaining
oirs envin . .
fghio gt j 67) The actor died when his car turned
€} is enough to profect D) Lave for
namre. A) turile B P
) lorioise
Chacross :
- D)tiger
9 =B
N-2062/12371(10) aT.
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-h'“-n;.._ Part C ;General English
8) A imanisknown _ the company he keeps. T All b g micss,
A_]l:-l" B)aoy -ﬂl-}{:iEl'LI:"h-iI@_ HJ_u]j
E} r Jdlﬁlr&uﬁng
69} He must the loans. 78) A mnumber of people listening i, ,
o — = ':hcll'l-tl.‘rt ar I:r-ﬂ.qu
A repeal ﬂr&pa_-r- Al growp B) andipn,
C)repeal E)[ﬁ;ﬂlm Chiribe O soeatangy
70} The it w fav. - : * Question Nos-T8 o g3
]' convict was 0 ofia r'-"[l:II'I.II.I-EJI' mmmns = A -E‘E.l']f:El"l'm Qr 8 e af Hg aaritane .
AYhanging B} banu=d undertined, Balow are given Afemstieg fo
pmcartigd part which may TIIrve By senbn.
G) hang, D) hung Choose fhe comect alfemaive. in csee n '
improvemant is npeded ahaoss Na fmar
Question Nos.71 fo T3 ; ; i &
Directions : Cut of the four alternalives, choase e T8) How long | shall 5oy = dioubiul.
one which basl expresses the meaning opposits
tFag pfven wond g A) I can slay B} will siay
CH vl e £ D) Ne imprvenient
1) Authentic Dagpitny 2 .
Sﬂj Even ni e peak of her seccoas, Kalpzrn Chaaiy &id nnf
A fake B bonest frget her homs or her duty Bewanls other hunsan, this is
€ frank D) fintile wvideat from the (et that she disiihed edieatio of
i sl e Inlia.
72} Methodical Al she combribute w Ejshe contributed girs for
echacation of girs educitiom,
erly B) iurry ]
A)orderly HI ) Ma improvemend, D) she contrilided o the
C)randin ) cramy educntinn af gk,
73] Pulitc B1} Every perso was oo fiited for everything
Ajrude B} rough Ajiznat fiLat B) Mo Irtpeovement
C] touyh D) rash G was not fit al E}is nor it fir
Question Nos.74 to 78 87) The doctor scribhied his preseription which | caulé
Dirsctions ; Qut of e faur aftemsiives, chooss (e ko i,
ano which cen most aopropiaely suhaitfota A
ey Wortd(s) or selence Ajmake pver Bl muke up
) C)maks for DO}tz improvenien
74} TIna primitive o uncivilized sate.
B3} Meither paries deserves our help.
A naral Blsivags
) villags O oldzn AJ W improvemenl B partics deserved
] iy deserves D) parties deserve
t TH) Heppening every vedar =
Question Nos.84 to B6
Ajainually B) routine Diractions - Cuf of e four altermaives, choose 08
s o 1 i Iif.en
C}timety D} s=nsan e wloh test axpmaauaﬂ_:l;aam.r:-_q cfifte g
W, e
TE) e who helieyves in God,
; 84  Statjoncry
A pilgrien B} beliover -
‘- [ el I B 1|:'I|T'| IE!-!;.EE L
T} beist D) worshipper '&"J Wt BIEesielcs i
- C}Mowing ) Fincd
. e
N-2062/12374{10) = BT.D
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g5) Abhorrent

- =

a4) ﬁ]j_mLa_lmﬂﬂ were asked o leave the willage
B) R immedintely.

A) Irregularity

GrAdmxsbie D) Uncommen A} some people B} all the peaple

§6) Innocent . ~ Callthe adults and elderty D) all the aduits

A) Guilt B) Bias R s Do
I."..lﬂlTE-ﬁEt D) Guiltless " ::n:::“m . B‘w m ;
Question Nos.87 to 92 C)one whe acts & dgred -

. | Fazy D ome whia 15
Directions : Four words are given, out of which enl 'J T
ane word i comectly speit. Find the comectly Question Nos.96 to 100

word, Spak
- Directions : Read ihe following passags canafully
and choose the most appropriate answer 1o each
quesfian oot of the four alfamatives.
r

87)
A)municiple B)muneciple
{é}munﬁﬁpﬂ D) municipal
88)

Fassoge
AL times there was soenething inbuman ahaut Mr. Rogers,
the Headmaster. His formidable chin fted out in the
most formidable way, and be scemed 1o he abwiys
ﬁumh@duummldingmnﬂ].mﬂmmtmmy i was
like an inspecting officer in the smmy; he surveyed the

g}lmtmﬂ B} jornal
C)jomale D) jurnale miost venial offence, would B¢ commanded b0 appear

B3) would then be nthj:t:cd b B t!r&d: of abuse thar would

A)license B} liscense Cuhless and eruel i public, *A delydrated oid sadist

C) lisense D) licanse

50) trouble would receive a xm% and went
rﬁﬂﬁg.__!ﬁ?the burden had been Tighmenes: e

86) What besl descries Mr Rogers &t the school
C)hasras D haraas asmemibily!

81} }lmﬁhlmm eruel B) a sensitive amiy officer
C)a formidabie teacher D) & genial person

D) sepeerate §7) The staff considered Mr Rogerstobe -

A)an intimidating person B} a person fo be idolized

F‘iap-:.-mmwill'rnm #Ry D) a gentle and
deruples umderstanding person

g8) “ina most intimidating way" means.

AYin o very fowl way B)in a very helpless Wa¥

C)in an extremely intimaie _'I':In.}'m an extremely
sl frightening e’

99) Another word for ‘magnanimous’ i :

Mgenerous ) biigh handed
C) magnificient ) arrags™

jrarehdd

(AL

14 sl ﬂ_ﬁqﬂ;’.ﬁ
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A) They came out trembling B}
and in teaes-

C) They echoed the
sentiments of the stall
mcmbers.

q.

. ﬁf‘\“ﬂ;%-ﬁ
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100} What happened to biys who v

isited Wim n private 7
They looked cven more
worried than before.

They seemed relieved ot
their troubles.

6y A%
F B7
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part O iGensral Awarensss

Eﬁﬂlﬁmr_&wm

0 W A

105) which of the following does oot belomg e physical

W8 ; ST ey e
! Eratafia 7 ¥ FeeR wa Hiftw
101) In carth stmosphere, which of the f])qm,; bl
decreascs with I:e:i;_ﬁu? tHlevoring COntituscsly - &7
ydit & STEHE 3T, ety ﬁ#ﬁmﬁm A) Lithosphere B} Almasphere
85 T S 3 T o o A argEE
A}Wm-l] velocigy B} Tem ﬂyHEmiﬁI"h‘“m D) Hiydlrowpher=
e T 2 Temperatre Aty FoTHTA
C)Pressure D”TI-IIL'IMI;}- Jm, An exampleof o seflitaoa of Figpaicl am sakid isc
= AT o v # T S A o S
102) Which state m Tndi his the larges copstlipe? f.”“:“'-'" B} rulbier
e H Foe TTo i A e e ad R
Al Andhra Pradesh B) Gujeat G}f:;" o ;:;E
T A EIE
C} Tumil Nadu D} Maharashiza _A07T) Which ane of the fellowing is not correetly motched?
HHEE }m.:q;b ~ poatefes & % Reow @ #w A o
| Th s " " A}lron-ore - Eudiemukh B} Copper - khelri
03) The Urop Development Programme ol ibe Ciewermment of 3T - ST B
- Tndin covers which of the following groups of commercinl wie . ol
' crope ¥ €)Mangansse - Karuput D} Coal - Singreni
AT TR & O e A & A Rt - FATE e - e
i‘r‘liﬂl?-liﬁa ﬂ- " ﬁ;f Elli'ﬁli?ﬂﬂ; [ﬁ;ﬂ'l_"ii =l HHE 108) Which was the instrument that was plaved by Uslaad
e B Bisenillnh Khan?
A} Tea, Cotton and Rubher  B) Tute, Tea and Coffis oA, AFEEIE F el 1 A A AT
aw, WO T ms @ W A A) Sitar B Shehaui
C) Cotrom, Jute and D} Tea, Coffic amd Spivcs
Sugarcane o, i T FHIE C) Santoor D) Flute
FH, FE AT T T Al
104) Undor the Constitusion of Indin who are the ullimel | 199) Loss of waetin plants i the Jor™ of ligicd i Tn¥ T ES
sovereign 7 W#Hﬁ#ﬂﬂﬂﬂmﬂﬁmmﬁ
e 35 et & ferder o e I B2 A) Osmsis B} Imbibiticn
A) President of India. B) Indian Peaplc. A g
# -
UL 5. AR SR C) Transpirutinn D Cultarion
€} Prime Minister of Tndia, D) All elected leaders of AT fireet =il
HE . India. % i
= e & wed e 110) Which nicmory i hatl stitic and nea-volatile ©
o o7y iy e T PR g AT
AYRAM B) CACHE
. {”—\\c T gJ'RUM D) BIOS ‘:_J
g g 13050 12098 P
S ql R O . d\f{"’ﬁ B,
A L y
AT e !
s Bz
123?1{11]’ T T
al 13
e —f
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Part O :General Awsraness _AR2017--4254610 ——
111) The Modi Governoeent ot the Cenine hos femied MITL 118} The aim ufthe Anyndays Pr L T e
A0 by replacing which one of the fallowing? sttt w5 CLrumime s
i e & g A EeRrEE o & e A AfDpliflog mmm""ﬁ ‘F:: #7
: Elbmirating urh
#mwa’rﬁ&ﬂnﬂmﬁmﬁ e i i urhin
A} Finanoe Cominissian g}PLmning Commissiol ” R A P
B 3.T|-.|:|‘|'i'|' == Tl Lisprening § ; W
Dfmhad?hﬂmt::"im“ﬂs Ej“dl'ﬂrﬂﬂu: ERuEss
) Agriculmural Prige D) Fiscal {epmmiasainn e o e armang the poer
Commisgion raRrdT HET e # THE A wE i
+ T HE AR R A & FEEA =
cau | 170 Which of the: follow: '
1 I i [ 1he follow1EE wwing stales hns reccifly lam
112) Poverty in India is measwred throngh one of fhe B ,/7 Kt Baac Vaiatln WTWthIEBmv Fr?-.-uullam
crileria ﬂ#mnﬁﬂ wmnloer qerdbon s af subcldised: i > n
sqrr] 3 AT AT AT Creipiii o & & 0 750 & e a9t &
@minmaﬁu’@r? s afen Hiad RARET &7 9T SUeEy s & T
Ajausiber of ropms of the ) intake of the it a7 sl T e aw 5
resiclence e CA i LAl
e 7 A o e A} Unipe Eamdesh B) West Beugal
e TedT WoEr qffsaT T
) education Tevel of the D) rumber i fam=R
family b C) Madhy= Pradesh D) Rajasthan
fyarT i et Fawt AT W TR
L ial 118) Far Commeteinl Ganks lending the Priorily Sectar
: < . the: denotes:
e ; il by this:
113} The Aliomcy Croneral of India = AppaimE
mﬂ#yﬁi’raﬂﬁ#rﬁrﬂﬂﬁmﬂ?mﬂﬁﬂ T St ammy Stne &t i FAe TR A
4 fasaT i
: A;|-Prim¢. Mimister B} Law Minisict A} Sclf srgloyed B) Smuil industrialists
st gy FHAT == T ] Ut
gpmgj._-h_-nmfn..jig O Homie Minister C) Agriculture and Gall D) Small farmess
e & T I A seale industries e Taea
. T A Y T
114) Which of the Tollowing con Mol #0125 8 hlewching ament? . . .
ﬁmﬁﬁﬂﬁﬁmﬁiﬁmﬂmﬂﬁ 118) The loxic imetal asseciated with the Minamala ppisode s
HFaT? AT T 4 - Farrefe I 0 57
A Mitrous owide B) Sulpher dioxide A cadmium By leud
AT HiTHEs HEET SE-HA S trEfAaA T (7S
ql-{Zhlclrim: D) Hydrogen peroicds C)mercury D} arsenlc
T AT IS T T
415) Whicls table in an aperating sysiem comnains infarmation 120) The release of whin:h. of the fuiln}-augﬁlnm pomidi nred
i - ahout all e open files? : weells helps in controlling the maaguElaes
SR freer & v 7T 9wl welt st ﬁmﬁﬂﬁﬁ#ﬁmmﬁ#ﬁmﬁ
T T Aot & Foreor & wEE g 7
A) open-like table BY) open-seck table A)Crab B) Dogfish
HIT. I 2 ST L T
Clapen lable D} open-lncation table Sl E}[ jambusin fish
HIFTRN st eeet e et Srerafirr e
N-2062H237 R
bl 14 PTO
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L AT e e

}Em'!t'itsunwuﬂuludnmf: 125) Which ane of the Mhﬂmmbhm_-._""“'-
et T et TR e A7 Spices’ ? B 'Ularden of
A) Taiping Rebellion B} Boxer Rtevolt Pyt A & T T 31 A Sy
i fEE | afeaT T =T 7
C)CPCPaty D)K M T Pary A) Kenals B} Kamitiky
c ¢ C K M TaE Lol e
C) Gujrat D) Tamil Madu
122} A biome i5;
e Pillared halls where the Buddhist monks
- b i
A) A group of plants B) A delimited area B s whiere the Buddhist ccsiipged Wers
mmgm:pmn:uiu mﬁ e H’dﬂ'{iﬁ'rﬂ'[ﬂﬂ'g ﬂmw
wrea TR I;Hﬂ
T P B A 39 e &Y
ey ol =1 AAE .&Jmui.::.lai B Mathas
G} A complex of D) A collsction of rare = w5
communities plants & animals ) Viharas ) Stupas
characterised by e ot e -
distinctive climate & |
vepetation m‘ﬁ““ﬂm 127) Which of the following is & semiconducion |
Rt FEEg T Tt & 91 e BT
e T R Aysitver B)copper
T ] o Tt AT
123) The lens of the e¥& is hehind the: C'Igllﬂ-i o) silicon
3 & e P T PR § 7 I Pt
ﬁlﬁlpi.l B) Vitreous human 128) Milkiness observed on passing cashon dioide through
R faew TR lime wster i§ dug 1o the formation ol :
; gy el i ST TS & T TG
C)Retina D) Optic nerve
i siifers w Bprds e 31 P &AT €7
124) Which of the following income will pot be meluded in A}
pational income calculation? ¢ g T rraE ﬁ"ﬂﬁ!
ﬁmﬁﬁa##ﬂmmﬂﬂﬁmmaﬁrmﬁ ) Calcium hydroxide D} Calcium bicarbansie
enfver aifi T e ? 4Py ETETFEIES FivwaH TF
A)Income of a joker ina B} Income of 8 commercial v of demand of lwory goods 18
circus company artist 129) Elasticity - PR .
R T R FE T EqrEETTe T e ) Infinite
hipfi {sNe
¥ i Aptett e
Q) o A
2} Commission i fa D) Indivigual's i from
g neome of a ]i:;!:ﬂpgi:ﬁumn: Cyzeeo n]q::;mmm
R e AR A o= Hi
Wi entaaTa 34
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Eart D :General Awarenass

130) A system progrom designed to aid the progranier in
finding and correciing errors of bugs is known as:

Syt 3 T T S e o v A e & Y

ST I SEEEH ST U FE B
- A)Dchugesr B) Evaluzator
Eenes st
€} Comrector ¥ hiarantiner
[ IT o FENRET
131) Roth the Trogic of Cancer and the Trapic of Capricorn
&  pass Lhroughs
i M e e T e A A B Y
A) South America B) Asia
Tty s oidar
C) Africa D) Awustralio
FhreRT Hiefoan
132) Whe smeng the following built the Goldan Temple at
Amritar?
TR A O Rree WeaaT 7 Fa AT e
77
A} Guru Gobind Singh B} Guru Teg Bahadur
I T % T AT
) G Mamak [yﬁum Arjum ey

433) Who has been elocted as the v Secretary General of the

Lstited Mations ¥
e T T T AEETEE ity g T #?

A) Antonin Ciutem B} Ban Ei-maon

¢ dEfemit TR -1
C) Lewis Hamilton D} Juan hampel Santes
wET EiReeA FHIT AT HEH

124} After a shower of rain, a rainbony i5 seen:
/e € 6 A, S e g A i
irrcepective of B)even in the absence of

A)armywhere,
the poaition of the sun U suan
1 o, i o TRy A FATA TTH
=k = er
C)towards the sun D) opposits the sum
aE AR * AT P e
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W o : A= AT

13 i
9) Who decides about the size and membership of the
Council of ministers?

FATYATrag, e e et 3t # ke ey
Y

- AJ Lok Sabha B Chairman of the Rajya
e T b
=7 THT & WHITE
'Elﬁim: Minister O} Presidant

136) Varun Sipgh Bhati who won bromze at 2016 Ric
Paralyinics Games is associned with which sports?

2016 T tarsitas et & HED YA Sed A
m%mﬂmﬁﬂmﬂ?

A) Bagmanion _B} Short Fut

d gedic A4 offe g2

C) High Jurmnp D} Javelin Throw
T ST FaTa o

137) The maximum mutnber of Mongel invasions took ploce

during the relgn of ;
HﬁmmmﬁiﬂfﬁWEWﬂ'M?
A) Muhamrad bin Tughhig Bj)Balban
¢ v T T e
G} Frroz Tughhug
TRt AT
138) Microsofl Excel s a

< g TR T i

D) Alnuddin K hilji
e TRt

B)MS Ofice Package

A} Graphics Package
afirre St MS it e
C) Electrunic Spreadslest D) Financial Plonnitg
! gt wse Puckage
Erie e e

In the Panchuyal Raj System, "the Paschayal Samitl” is
conatituted al the:

Tl T e 3 A BiATY & wed R
T T TR S g

1;?:'

&}ﬁr.at-: Jeel E] Dhstract level
=g Tt IEGE S0
C) Block level D) viliage level

THE 7

e =
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Part O :Ganaral Swaraness

—ARI01T

140) Participation is an imporant element of every ;

afasriim fres Ageayt s

A} Aristoeratic sysiem

B} Oligaschical system
wifam &

" Mgk
C) DemacTalic swsiem Dy Monarchial sysyem

¢ gy e

141) The K milssamatha Tfm-l:':h I:S'i.'-'p TEm.ph:] it Kanchipueam
comiaining sculpiures with paintings in the inner wall, was
il by 7
T # mmmy #feT (F #R0 Gad
il At # Tt AR T E e

e W7
A) Narasimbavannan B) Ravivarman
SR SEET T
) Mahendravarman D) Devavarman
Al & =
142) Elesnent that s not Found in bood is!
o 3 ST e AT SR
A) chromium B) copper
EniE -t o
C) magnesium D} iron
At HIE
143) Govind Bailsbh Pant STEATTEEC " riated in @
o A T FTE TS W T
) Mharkhand B) Ustar Pradesh.
wEs e W
C) Chhattisgarh B) Ustarakhand
AT IeEE
144) The tecth lacking in Herbivorous animals 18!
e s Shealt 2 aher- & ielt o AT T t
A} Molar B} Canine
T (EE) T
C)Incissor D) Presmolar
b * srarora
145} O the fllowing, which one ks nop-contractual caming?
ot & d wrar fR-aite A
A) Prafiy Bj Interest
o =
ChRens 0} Whgs
T )
MNP
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1486) Which ane of the following gases relesmey | _
I plant is used 58 = fuel gas ? -y

qﬂﬂﬂﬁﬂmmﬁahh
w1 i s 0w T o

A) Ethane B) Butane
ey A
G} Progans ﬂH:ﬂum
aTet ey
147) The tike of “Cangal Kondan' was sdopied by the
fofbrwing Thala King:

T 7 & T e e A Tt oy
e i o

A) Vijayalayn B Karikala
EELIE] o
C) Rajaraja 1 Rajendra |
AT | T
@ Viplt % Second i8 the unit of :
= poulomb
e » 3y Pl e B
FAH
A) Inductance B) Resistance
TEE Wi
C) Capacitance O Energy
bl =
149) Excretory organ of cockroch is:
ﬁhﬂ’l‘ﬁﬂnﬂﬁﬁlﬁlﬂﬂﬂﬂﬁﬁﬁ
A) Mephridia B} Malpighian tububes
G A At
C)Kadney D) Malpighiam Comuscles
L Fwdraft w
150) The numbes of players in a Fgmm is
gea S # e @ 7
AR Bj6
C)3 i3 oys a nl
v R Jos3r

g;i%iqf%f: AT

)

'L__h-
o

Fl



